https://lwww.leads4pass.com/des-5121.htm]

L Qads 4 PQSS 2024 Latest leads4pass DES-5121 PDF and VCE dumps Download

DES-512195As

Specialist - Implementation Engineer - Campus Networking Exam

Pass EMC DES-5121 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/des-5121.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EMC
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

DES-5121 VCE Dumps | DES-5121 Practice Test | DES-5121 Braindumps 1/4


https://www.leads4pass.com/des-5121.html
https://www.leads4pass.com/des-5121.html
https://www.leads4pass.com/des-5121.html

https://lwww.leads4pass.com/des-5121.htm]
2024 Latest leads4pass DES-5121 PDF and VCE dumps Download

QUESTION 1

Which port security method converts existing dynamically learned MAC addresses on an interface to this mode and not
age out?

A. Static

B. MAC address
C. Sticky

D. Dynamic
Correct Answer: D

Reference: https://www.dell.com/support/manuals/us/en/04/networking-s4148f-on/smartfabric-os-user-guide-10-5-1/port-
security?guid=guid-c27a9d47-ea59-48cc-b19d-90a9f6d52629andlang=en-us

QUESTION 2

A network administrator is planning a PoE budget for their network.

What is the POE source maximum power budget for a Class 4 end device?
A. 12.95 watts

B. 15.4 watts

C. 34.2 watts

D. 60 watts

Correct Answer: C

Reference: http://ftp.dell.com/manuals/all-products/esuprt_ser_stor_net/esuprt_networking/esuprt_net_fxd_prt_swtchs/n
etworking-n3000-series_User\\'s-Guide10_en-us.pdf page 82

QUESTION 3

A network administrator is setting up several stacks in their network that includes different Dell EMC N-Series models.
Which N-Series switch models require mini-SAS stacking cables?

A. N1100 and N1500
B. N1500 and N3000
C. N2000 and N3000
D. N3000 and N4000

Correct Answer: C
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Reference:
https://cdn.cnetcontent.com/syndication/mediaserverredirect/c1ddae5629f69c40c5da9c0d36chb045f/original.pdf

QUESTION 4

What is the recommended maximum number of routers, per area, when using OSPF?
A.50

B. 100

C. 200 D. 255

Correct Answer: A

QUESTION 5

Refer to the exhibit.

consolef#show ip access—-list broadcast

IP ACL Name: broadcast
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A network administrator has created an ACL to block broadcast traffic to their server on port Gi1/0/1. Why is the ACL not
functioning as desired?

A. ACL is not applied in the correct direction
B. ACLs do not support broadcast traffic

C. Destination address mask is incorrect

D. Destination IP address is incorrect

Correct Answer: A
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